SUMPOEEEINIL OIS A

SEME;) D SUMPO EPD A AP AT T R R
.o w2 A1TINREEE (EPD) ERHTAERPIHE1-14-8
VERIFIED KANDA SQUARE GATE
E#H&ES © JR-BO-24002E-A https://ecoleaf-label.jp

4 NIPPON STEEL 2AFVLRER (F—2FFA FF - ZHEF)

Stainless Steel (Austenitic * Duplex)

BARGHARHL

HEH EBRES JR-BO-24002E-A
Lt ERPCRES  pA-187000-BO-03
PCR% ATVVAS G (PR [H3hR]
BEX R NESIS 2024118258
(I ER#&E4 m RSE4 REEETEHE 2024108118

BUEERRE (EARTE. B Rl0H%, BRORIE) BIrA =t ESBARIES =
RILES JV-BO-24002
BELE#hEAR 20294108108

WROB, TB(H-HT PCRUE1-DES
WY b OB, REAMSH. ANERT  mras 200352840
E5RE 1 IS (BAEREIUE) . ASTM. ASME 2EE L2 @
BRSSO RS —RALEIEAYAT S T B
RAR - S, SAR. 45007, 54 B ERETE
FRRE (BAImm, t =tREF) t=0.1~150 NERREEE WE B

FREZE (BEmm. p=E#F =5.5~60 . o
- ¢=E%) ¢ 1SO140258 £TNISO21930(2E 2 A E S R UT-I DML

AR EE
ELSHhEE o o
% PN —~ P
HARRHASAL 272 LABRED AT LRI ER - EZNORIOB AR, YATLRIETLEAS
AT L REEE D& BIEFCHo

TEL : 03(6841)5290

https://www.nipponsteel.com/

Fix&ES ¢ JR-BO-24002E-A


https://www.nipponsteel.com/

SUMPOERIEINIL OIS L

‘ S““’"’o SUMPO EPD — R EE A RT TR B
. = S14TNIEBIEEE (EPD) HARHBTRARAHEA1-14-8
VERIFIED KANDA SQUARE GATE
EHES ¢ JR-BO-24002E-A https://ecoleaf-label.jp
Q317917 VR EFMER
0% 20% 40% 60% 80% 100%
SUEZED IPCC 2013 GWP 100a 3800 | kg-CO-eq
7324 4.1 | kg-SO2eq
HALFAFII U 0.099 | kg-CzHaeq
mla1) ERREEE  mla2 EETROEE 6 A3] HRORE
AER IEH|  BfI A |[(a) ERREE| (a2 BHeo®z | [A3] REORE
S{REZE IPCC 2013 GWP 100a | kg-COseq | 3.8E+03 | 2.7E+03 | 3.3E+01 1.1E+03
AV B IR kg-CFC-11eq| 3.7E-04 3.6E-04 2.4E-10 5.2E-06
73214 kg-SO.eq | 4.1E+00 | 3.2E+00 2.8E-01 6.5E-01
HAEFAFIIVE kg-CoHaeq | 9.9E-02 5.8E-02 4.6E-03 3.6E-02
EREL kg-PO.*-eq| 9.9E-01 7.7E-03 2.1E-13 9.8E-01
SHHRUMECBT MR
Hify mR-9E (ERERS) Hify
#ﬁiﬁjabﬁﬁ 5.7E+02 kg K% [C] =02 %
FEB/EMRIRIY- 5.1E+04 M) T1% [Si] =5.0 %
BAERREER 8.0E+02 kg YAV [Mn] =16 %
BAERREIRIF- 1.6E+03 M) U [P] =0.05 %
RKIKDEE 4.6E+00 m? B [S] =04 %
Zw7)b [Ni] =25 %
IEH Hify EUTTY [Mo] =70 %
BEEEY 0.0E+00 kg 8 [Cu] =50 %
mEREY 3.7E+00 kg ZA7 [Nb] =1.0 %
KIMIYIIMIE I 2 EENBERLVNET, FAY [Ti] =10 %
TILIZU L (AN =20 %
SIYATY W] =3.0 %
2% [N] =04 %
# [Fe] =47 %
OHEFRICET5EMER

NEROEHEY T UAIPCRICHE T, TIHMHEEHNX(EE xRt et Y I M CEHAIL TRV,

ARY-b L OMKIRUYMEICEE T BB ADONT, SKUN BN REBZMMRIEREDE LRMEDIE, ZFAOEDERT,
RO S ORI DR THESNS,

3)—RT-F(F. 2022 FEDEEEEER L, BNREMEIES, —BREKFEE 101, 2014FE J2EALE,
HETERRIL SER R EROMEFIETHS,

5 ASERFTERREERL TS,

®©-1.Z D DERIZREIFER

ISO140013RE L5 THEEL TS,




©-2 FEMELEI SRR

IEH CAS No. ESE
NVHY 7439-96-5 FEREEHEEBITS
5 7440-50-8 FEBREEHEEEITS
704 7440-47-3 FERE/ELEITS
~wrl 7440-02-0 HEREEE LTS

@DERLEZRT-9DEXS

IDEA v2.1.3 ZfER LT,

®frE

OJISHRIE : JIS G 4303 (RTVLAEE) | JIS G 4304 (BAMIEEZERT YL AMIRKRUET) | JIS G 4305 (AMELERTY LA
WEUEE) | JIS G 4308 (AT YL ASHIREH)

OASTM A240/A240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip
for Pressure Vessels and for General Applications)

OASME BPVC. Il .A SA-240/SA-240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate,
Sheet, and Strip for Pressure Vessels and for General Applications)

OBARBEKRIE : BIERT VL AR, HIERT YV AERMR. ATYVAERR. ATV VASER. A7 YL AR R
2025548 HERBLHWEREY b ELRBEEBLELR,

@7 -YEENAHEIL. PCRELUVEE - EEMRBESRLTLEL,
OLLERIIDOVTR, HEE - EERECHREINLRGER/ILILBELLHEHONEE A,
(BHE%URL : https://ecoleaf-label.jp/regulation/)
F8kES ¢ JR-BO-24002E-A



